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ITA REVIEW  TEST # 5
Find the LCM of:  6, 20
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Compare using <,>, =      
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Change this fraction into a decimal.


Change these decimals to fractions
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Add or Subtract these fractions:  
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Multiply or Divide these fractions:  
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Convert these units accordingly:

12 c = ___ qt


____ ft = 28 in

80 oz =  ____ lb
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Solve these equations:
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Simplify each expression using the product or quotient rule, or both. 


[image: image34.wmf](

)

3

2

2

x







[image: image35.wmf]2

9

3

÷

ø

ö

ç

è

æ







[image: image36.wmf]3

2

3

÷

ø

ö

ç

è

æ

-

b

a



[image: image37.wmf]6

8

x







[image: image38.wmf]9

1







[image: image39.wmf]6

3

27

b

a

-


Solve:

Based on annual rainfall, about 
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in. of rain falls each day in Buenaventura, Columbia.  At this rate, in how many days does 8in. of rain fall? Round to the nearest day




11 days
_1261300336.unknown

_1261300492.unknown

_1261300612.unknown

_1261300870.unknown

_1261300934.unknown

_1261300971.unknown

_1261301075.unknown

_1261300899.unknown

_1261300744.unknown

_1261300843.unknown

_1261300773.unknown

_1261300715.unknown

_1261300546.unknown

_1261300574.unknown

_1261300516.unknown

_1261300415.unknown

_1261300440.unknown

_1261300362.unknown

_1261228343.unknown

_1261228662.unknown

_1261300232.unknown

_1261300243.unknown

_1261228770.unknown

_1261228858.unknown

_1261228717.unknown

_1261228440.unknown

_1261228528.unknown

_1261228380.unknown

_1261228037.unknown

_1261228248.unknown

_1261228276.unknown

_1261228066.unknown

_1261227795.unknown

_1261227938.unknown

_1261227996.unknown

_1261227920.unknown

_1261227836.unknown

_1259398789.unknown

_1261227777.unknown

_1259398502.unknown

